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04 JIAN2R IS4 2,007 2,204 £287

OF= DSYEIA 215 35,8302 +7Z 8 & 2,007 2,204 A287
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O & TH off 04 2+ At 6,400,000 6,400,000 0
= 3,600,000 3,600,000 0
= 1,400,000 1,400,000 0
= 1,400,000 1,400,000 0
401 AIEHIZ S OHYI 6,400,000 6,400,000 0
= 3,600,000 3,600,000 0
= 1,400,000 1,400,000 0
= 1,400,000 1,400,000 0
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= 150,000 600,000 A450,000
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= 245,905 394,960 A 149,055
03 A& 201 27,495 25,740 1,755
Oa=d Folatsil HEAY
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272 ot F 171,286 178,000 NG, 714
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OBINE SREITAHFZLYH)
116,666 «120m 14,000 0 14,000
= 14,000 0 14,000
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